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Missed the Wave Recitation @

Complete the mechanism for the following acetal formation reaction. Be sure to show arrows to

indicate movement of all electrons, write all lone pairs, all formal charges, and all the products for each step. Remember, T said
all the products for each step. IF A NEW CHIRAL CENTER IS CREATED MARIK IT WITH AN ASTERISK AND WRITE
RACEMIC IF APPROPRIATE. Do not draw arrows to indicate how one contributing structure relates to the other.

Overall Reaction

® -“'. wl q’ o H

ell)e y a. \ =
(e s s oo R st O
H OH  Gat Hr l

Les 2]

it o-
0%
« o.’H
H./U\/\/\.b:H }: H2304 — HJJ\/P\k&/\CI)HED N HSO4@
T
S Jo:

 pka-t ﬁ 3 .

0 L WTS~"0H

HJ\/\/EEP'ES AdS Pﬁwb @ :-(‘)/H\
B E— A s Rl \

:o:—/ ,AJK./\/\E)'—«H H W"H

(Draw both contributing structures)
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Homework Problem Set 4 Iverson CH320N HT:I Due Friday February 24

—_—

Complete the mechanism for the following-acid-catalyzed lactone formation reaction. ,Be~su1) to show

arrows to indicate movement of eetrons; write-all lone pairs; all fornral charges, and all the
products for each step. Remember, I said all the products for each step. IF A NEW CHIRAL
CENTER IS CREATED IN AN INTERMEDIATE MARK IT WITH AN ASTERISK AND
LABEL AS RACEMIC IF APPROPRIATE. IF A CHIRAL CENTER IS CREATED IN THE
PRODUCTS YOU NEED TO DRAW BOTH ENANTIONMERS, AND LABEL THE PRODUCT
MIXTURE AS RACEMIC IF APPROPRIATE. In the boxes provided adjacent to the first two
sets of arrows, write which of the four basic mechanistic elements are involved (i.e. "Make a
bond", "Add a proton", etc.) I realize these directions are complex, so please read them again to
make sure you know what we want.
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